3Lecture- C+410

| mportant Mcqgs

1. Question: In C, how do you declare an integer array named " numbers' with 5 elements?
a) array numberg[5];
b) int numberg5];
) int[] numbers ={5};
d) int numbers(5);

Solution: b) int number g[5];

2. Question: What isthe value of the expression " sizeof(numbers)” in C, where" numbers' isan
integer array with 10 elements?

a) 10
b) 40
04

d) 14

Solution: b) 40

3. Question: In C, how do you accessthe third element of an array named " data" ?
a) data(3);
b) data[3];
c) dataf 3};
d) data.3;

Solution: b) data[3];

4. Question: What isthe correct way to passan array "arr" toafunction in C?
a) function(arr);

b) function(arr(]);



¢) function(&arr);
d) function(*arr);

Solution: b) function(arr(]);

5. Question: What isa pointer in C?
a) A variable that stores multiple values
b) A variable that stores the address of another variable
¢) An array that points to another array
d) A function that points to another function

Solution: b) A variablethat storesthe address of another variable

6. Question: What doesthe"*" symbol represent when used with a pointer variablein C?
a) Multiplication
b) Exponentiation
¢) Address of avariable
d) Dereferencing the pointer

Solution: d) Dereferencing the pointer

7. Question: How do you declare a pointer variable named " ptr" that pointsto an integer in C?
a) int* ptr;
b) ptr* int;
C) pointer ptr = int;
d) ptr = int*;

Solution: a) int* ptr;

8. Question: What isthe value of " ptr" after the following code: " int num = 10; int* ptr = &num;" ?
a) 10
b) The address of "num"

¢) The address of "ptr"



d) Garbage value

Solution: b) The address of " num"

9. Question: What happenswhen you increment a pointer in C using " ptr++"?
a) The pointer points to the previous el ement.
b) The pointer points to the next element.
¢) The pointer becomes NULL.
d) The pointer points to the first element.

Solution: b) The pointer pointsto the next element.

10. Question: How do you dynamically allocate memory for an integer array "arr" of size5in C?
a) int arr[5];
b) int arr = (int*)malloc(5);
C) int* arr = new int[5];
d) int* arr = (int*)malloc(5 * sizeof(int));

Solution: d) int* arr = (int*)malloc(5 * sizeof(int));



